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Note: You have four choices for each objective type question as A, B, C and D. -;{Z:J'.}’:v;..—..ﬂ'r{.ﬁ.glr

The choice which you think is correct, fill that circle in front of that question number, Use marker or pen

to fill the circles. Cutting or filing two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 : -1 f.;d'f

(1) Biodwversity 1s the nchestin ______ regions. -.:'_l::t.;.:..,-’u:':f'if}g'-:d;t" S (1)
. Tropics .."L"-" (B) Temporate =:~ (C) Polar V.. (D) Tendra 1.i~

(2) s found in the cell wall of fungi. PSP USR8 9 U1 - S )
(A) Cellulose .y (B) Peptidoglycan %815ty (C) Sugar L . Chitin asl8

(3) Prokaryolic cell's ribosomes are slighilly —than eukaryotic ones. -l r;:.;..L.u..f:,a;":;',-'nf uu"._,"—'..-'.f;r:’:.; (3)
(A) Larger — = .Smaller i (C) Equal . (D) Over .+

(4) The cells form the body of organism are called.- BT FLnd b s (4)

@ somatic celis iz, (B) Germ line cells A i (C) Prokaryotic cells *ydiy (D) Sex cells k<

(5) Pepsin enzyme work in - - LR A5 (5)
(A) Oesophagus ..«"in' (B) Liver £ . Cavity of stomach 16Z ..+ (D) Intestine VI

(6) From _____bonds of ATP molecule enerqy is taken : _.ﬂ.;&*._rdl}"bﬁ}l; N L ATP (6)
. P-Pbonds Jiled i (B) C - Hbonds jile/s ki orif
(C)C - Nbonds Jile TN (D) C - O bonds J.:'i,;rf-'r 91

(7) Iron deficiency causes - ce Ui sl e S s (7)
(A) Blindness ¢l (B) Rickets J:’: . Anaemia V.‘ﬂi | (D) Scurvy ;_j':.;‘

(8) _____ are responsible for blood clolihg. ..‘_,.r_:_,u_.jd: L_t;:.;_g_h’)l‘-' . i-:-.:r'-*:' (8)

(A) Erythrocytes _—=1+A (@ Plalelets v*4  (C) Neutrophils .2 (D) Basophils =

(9) Hepalic artery supplies blood 10.- --:.:..JL;‘.'-FL:.'?:" : o)) S (9)
. Liver % (B) Stomach s»- (C) Kidneys s (D) Heart .,

(10) The word "Blology” has been derived fromtwo ____ words -.;_gf’g’.:.;l.-_. HH] | n AT E (10)
(A) Latin (1 . Greek Jt;‘ (C) English A (D) German 2

(11) The example of Micro Molecule is - -ﬁ:-JLf-‘d' 1!?1_ !.FL (11)
(A) Protein .-;5:.-; (B) Lipids ¥/ | (C) Stércn &/l . Glucose Jss

(12) ____ senses are used for Observations. - J‘g Jdi-'-""'.._;f ’ .;_’_.:Z.:_i.._-uw (12)
(A) Four .U (B) Three ;_,.f .Five E'-,i; (D) Six 7
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Note: You have four cholces for each objective type question as A, B, C and D. -q).’.-.JZ-;.:,urr{,ﬁ.grr

The choice which you think Is correct, fill that circle in front of that question number, Use marker or pen

to fill the circles. Cutting or filling two or more circles will result In zero mark in that question. Attempt as
many questions as given in objective type qua;tlun paper and leave others blank. No credit will be awarded
In case BUBBLES aro not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 R e
(1) The division of Cytoplasm in Mitosis is called:- - JHrP-?’JrJltF AU (1)
(A) Karyokinesis =¥y 2 . Cytokinesis »“Jf#L (C)Metaphase ¢ (D) Anaphase 2t

(2) enzymes which are used in dish washing -t n w1l L tlorfipna lylguizz 7 (2)

lo remove resistance.

(A) Protease :-:':.;; (B) Biological detergents .,.r"""“;iu_-:'fi_. (C) Co-enzymes /'-*'1;5:11" .Amylase .szi*

(3) The process in which the Pyruvic Acid Molecules et e Sre LS i }';QLZ.H'..:G:;JEJ:U‘U n (3)
are completely oxidized is called:- (A) Glycolysis yJUF 11
. Krebs cycle ,__E"'L@;.,f ' (C) Electron transport chain ._;d..:.-u;“:l}u:}?r (D) Electron chain u.'-‘iu,':}{j'
(4) In _____ part of the alimentary canal, the maximum Sl rcantlicanlic. o7 SRy = 11 /"k' (4)

absorption of nulrients occurs.

o

.Srnal:l Intestine ..-..:TJr':' (B) Large intestine =i (C)Stomach »u+ (D) Liver ~

(5) Many bactena live in Colon and they produce:- -;,gi.ﬁ.g;asfugd’_'_;uddf L /-;_C.:_:f (5)
(A) Vitamin C /'t (B) Vitamin D /¢ . Vitamin K ¢/t (D) Vitamin B ' t»
(6) Average life span of a blood platelets is:- ' -‘;;_m.;..l_,m;&.sw’g?.%ﬂ (6)
. 7 -8days s el (B) 8 - 9 days Ui 5T
(C) 9 - 10 days o e s (D) 10 - 11 days ;:J:ul:"::.w
(7) Thelfamuus book of Jabir Bin Ha;ran IS:- - 1y r:'*’dﬂull_.:ur...:g (7)
. .N-Harﬂan ! !3: (B) Al-Abil U (C) Al-Khail J.:': (D) Al-Wahoosh "
(8) Example of Colonial type organization is:- . _;_ch@fw*if i tEY (8)
(A) Amoeba 2! (B)y Euglena L':’B'{ .Vulwux J;}u (D) Paramecium ;ﬁ"i,.:-.
(9) The most basic step of Biological Method is.- - R I e 6T 7 (9)
(A) Observation »»>+ (B) Deduction L/"‘(d i @ Experimentation ¥ /" (D) Hypothesis making tk.ss /A"
(10) The smallest unit of Classification is:- ' ' - 24) (tg"):.{;. wgo® b’;,-'*i'"-j:;‘;s' (10)
(A) Family J”' @ Species )..*Lﬁ (C) Class ¥ (D) Order 3,7
(11) ____ organelle is not bounded by membrane. Lt AT A
(A) Golgi body I_.J ¢ (B)Plastid £ (C) Mitochondria L,.X/54 _ . Ribosome rsts
(12) The resolution power of human eye is.- -& a1} ;::,?rfl.‘-:n_,(f I'JL-"I (12)
. 0.1 mm (B) 0.5 mm (C) 0.05 mm (D) 1.0 mm

a i [
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Note: You havo four cholces for each objectivo type question as A, B, C and D. ...L(/::Jifq-:-iﬂr{.;{.ar

The cholce which you think is correct, fill that circle In front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circlos will result in zero mark in that question, Attempt as

many queslions as given in objective type question papor and leave others blank. No credit will be awarded
In case BUBBLES are not filled. ' Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Tne amoun: cf energy cantained by one gram Carbohydrates is.- --;-:.:"unjt';'-..r‘:péf&: Hﬁ?';—{' (1)
(A) 03K Cal 2.4 03 @04 K Cal 2.4 04 (C) 05K Cal 2.4 05 (D) 06 K Cal z.+¥ 06

(2) In rarmal human acults the Mass of Heart is:- -:;._l‘:-".:JJ:!Ur;..—’-'ufn..-'fl-:'&':uﬁfi (2]
(A) 20 - 60 gm (8) 150 - 250 gm (C) 26D - 250 gm @ 250- 350 gm

(3) Tne famous book of Bu Ali Sina is.- el @)

(A) Al-Navatal =t (B) Al'Wahoosn ! .AI«Qanun-ﬁl-Tm .:..uir&u,rﬁsii (D) Al-Haywan u,.!'fg

(4) The scientifc study of Insecls is called: - - r!l:;'.':fg,f:';hrb’._-.-l,,.'—'-’ i4q)
_(A) Immunoclegy Js:4 (B) Ecology (s | IC) Genelics L,fi;: . Entomology .s=s%
(9] The scientist who performed expermen's of Malana 01 Sparrows was= -Ef;;_,fig,:";;_,r;".g.f_;’-glﬁ ¥ (3)
(A) Laveran L« .. Ronald Ross ., (C)AF.A King <& AF.A (D) Bl:Ali Sina L:J
(6) The Biolcgist who introduced Five Kingdom Classificaiten .El,r:_.i_n;-f" ;’i'fg#tb?}s#g&f_;.ﬂr'f'l — J~ 1837 {6}
System in 1967:- . Robert Whitaker ,J.;:'..-_...:u (B) E-Chation o=* 4 (C) Margulis A A (D) Schwariz ;-
(7) Permanent tissues originate from - (A) Ground tissues j;-";i'il:" WAJe e _ Haw ¢ (7)
(B) Epidermal bssucs .=:‘-"-_,-Ej;,gl . Meristematic lissues }:‘-:..(-é" s (D) Xylem Tissues .=:‘-"/='i}
(8) Ca-diac Muscles are present in the walls of:- cFlntuntdy ML LY (3)
(A) Lungs < 2rcv (8) Liver 2 (C) Kidney wd .Heaﬂ U
(9) Spider bi:e can also cause of.- ' --.=-C‘:h'¢"'r' S AT 19)
(A) Apcptosis ._,"";;'T_I . Necrosis ._:'";f (C) Meiosis U g (D) Mitasls ,.__,—-";J_
(10) Lock and Key Mordel of Enzyme action was proposed in:- | _l_._l"‘:;"'g;‘.: J ;LJ p3 r._fus'g_-tfu'_: FI_:,?:I (10)
. o= 1894 (B) = 1895 (C) & 1896 | (D) <. 1887 |
(11) Calvin was awardec Nopel Pr:z‘e in:- Sl Fyesit (11)
. v~ 1961 B) &~ 1862 (C) «~ 1963 (0) & 1964
(12) Fat-solub'e vilamins are Y - Y Pt 1) BUTIET N Y S (12)
(A) B.C (B) A .C. K .h, N EK (D) A, C E K
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Note: You have lour cholces for each objective type question as A, B, C and D. -._M:J,-G,-.:..m,-{.‘.;.gr,-
The cholce which you think Is correct, fill that clrcle in frontl of that question number. Use marker or pen

to {ill the circles. Cutting or filling two or more clrcles will resull in zoro mark In that question. Altempl as

many quoations as given in objeclive type qunuilnn paper and leave others blank. No credil will be awarded
In case BUBBLES are not filled. Do not solve question on this sheot of OBJECTIVE PAPER.

Q.No.1 R

(1) Bactena Is assigned to Kingdom of - .;,:.rhwu-f.mt b (1)
(A) Fungi J:’ (B) Protista w4, (C) Piantae J'xg .Mnnera ey

(2) Cell wall in Fungiis madea ag of - : _.E_E:-'J*:._}:‘._;J?' (2)
(A) Cellulose s A& .Cnitin A (C) Lignin .,"J (D) Cutin gid

(3) Responsible for energy production in celis:- -.i-__:,f’;,:;jl:'i_,f x (3)

(A) Cnloropiast ;.--a;mf (B) Ribosomes 7r#\. .Mitnchcndria Li¥FL (D) Vacwie Jits
{(4) The phase in which crossing cver occurs: - ....':...{:;.ﬂ‘ AL B A (4)

@ Proohase - | ff-"'?-; (8) Anaphase 2% (C) Prophase - || ,?:,; (D) Telophase 2

(5) Lipase Enzyme acts on.- _ - e B AA R G (5)
(A) Carbohyarates J.r..g v2,¥  (B) Protein yf:_.; . Lipids J&/ (D) Starch .
(6) Glycolysis lakes place In:- --';;..q::.'i y*:lrfﬁ' {B)

.Cytﬂpmﬁm P F v (B) Nucleus u‘-{: (C) Mitochondria L.&¥#( (D) Cell Wall Ju K

(7) Deficiency of lIron causes - - &:f.:.._-:;fd’;fyﬁ (7)
(A) Goter ,F-'if . Ana.&mlia ycﬁ (C) Otesity LLir (D) Canstipation ,_j‘.:;

(8) Night-blindness is causec due 1o deficiency ol Vitamin.- -..:...U-f (;_, AT | /\If !.__._,,_,JJ' (8)
o - (B) 8 (C) C (O D

18 ___is responsin'e for transpoing food substance throughdul plant body. ;..-,—...,u..,-sh‘.:.u;"i.-*J_.."i_,ﬁ_:(-’rJL,-__,{ (9)
(A) Xy'em ,/“i; ;B]‘Cartex ;_,;'E.ab" (C) Endodenmis 745! .Pnlccm F.-ﬁ

(10) Microscopic study cf tissues is called:- e b Ll AL (10)

s

(A) Taxonomy (7.¥  (B) Morphology Jsis @ Histology Jss= (D) Microbiology ('st.2
c' s,

(11) Number of Bio elements Is:- -.._"J-"J.l Voo (1Y)
(A) 92 . 16 (C) 29 (D) 61

(12) Quinine is oblained from the bark of the tree:- ..I__,h;,(u“b:._lfrl,J_. " .,_,._' (12)
@ Cinchona tfr (B) Thuja b¥ (C) Quina quina &/t (D) Pinus L
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Note: You have four choices for each objective type question as A, B,C and D. -u{/ﬁupzf#ﬂ'f{-;{-éf

The choice which you think Is correct, fill that circle In front of that question number. Use marker or pon

to fill the circles. Cutting or filling two or more circles will result In zero mark in that quostion, Attempt as
many quostions as given in objactive type question paper and loave others blank. No credit will be awarded
iIn caso BUBBLES ara not filled. Do not solve quostion on this shoet of OBJECTIVE PAPER.

Q.No.1 -1 A

(1) The death u! hzart lissues s called - (A) Anenioscierosis ™ 27 A1 -;:_.L:-"!L.:F A E! (1)
(B) Alhe-osclerosis ) 2 5 .M,fncard:ai infarction .,uu_, 5660 (D) Necrqs:a ...-*":f

(21 Avetrage life span cf red blood celis 15 - A uu—-lb.rf_: ~ 4 (2)
. 120 cays ¢y 12C  (B) 150 days /2 15C (C) 12 days s 12 (D) 130 days o+ 130

\3) The scient fic study of insects is callad - -——-'l'-f & ‘:-"‘-"-'-*‘;"" (3)
{A) Immunology J.s'/s4 . Entomology L.f.:';';':l (Ci Ecology LA (D) Genetcs ol

(%) The first Muslim Scientist who studied Animals in detall.- -L—;"ﬁffwi?!".-_:u .r‘i.rl..u"q:u."#;"i-' "U""'ﬂ-" (¢)

(A) Jabir bin Hyan L ogisl (8) Alrazi J:.' (C) Bu Ali Sina t=(¥ . Abdul Malik Asmai ,_;f‘ P

{5) Sclentst who performed experiments of Mala‘ia an SpaTrows:- Ay TN TN SR B 1P (5)
. Ross J\ (B) AFA King " AF.A (C) Laveran s (D) Bu Ah Sina :a:_,!‘b:

6) Biodiversity is richer in- (A) Deserts _ZoH -=Jbus G i o (8)
. Temperale reqions L-o v’L-,_,.-r' (C) Pclar regicns ;9" . Tropics ._,tf;_,'ﬁlﬂ-*)'

(7) Celiviar Organelle have their own DNA. | -t DNA L';Iful.'"::f."f:" (7)
@ (iuochoraria L6, | B) Centrioles Y3 Ve (C) Rihosomes i, (D) Lysu;ume; 2yl

(8) Permanenl tissues viginatz lrem the lissues:- _L;_?E-T;;}Lfi;;.:'_._a;_{ (8)
(A) Epidermal ! o . Merisiemalic oz {C) Ground #it" (D) Xylem T.-E'i;

(9) Trie phase cf ce!l cycle in which ce | prepares itself .....uﬂ- etliza L yeh SN SN NN PN Q)

for divisicn is called:-  (A) Prophase f?.;:,; .|I1lEIphE$E 27 (C)Metaphase 2is (D) Teloprase 2

o -
(10) Enzyme usad for the removal of protein stains from cloihes -.E-_fl;%.ll.lh.i_:f._}t--*l.‘-’_. _f:__,tlul_,__u:j oRyly- S (10)
s called- (A) Fepsin 7 i* (B) Amylase ;:'.j..:_l . Protesse :;I:i,ng (D) Lipase = Ju_
(11) The example of three Carbon Molecules is:- .y S b (11)
(A) Glucose /¢ .F‘yruulc Acid Sz : (C) Starch .- (D) Ribose ;,_-__1;,
(12) Fat soluble vitamins arz - WEhved  (12)
(A) A.C.EK (B) B C (C) ACK . @ ACEK
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Note: You have four cholces for each objectlve type questionas A, B, C and D, _;{/E-J"‘);.:.- Urg 242"

The cholce which you think Is correct, fill that clrcle In front of that question number. Use marker or pen

TIME ALLOWED: 15 Minutes OBJECTIVE (5

to fill the clrcles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not fllled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The Third Kingdom System was preposac by:-

(A) Margulis LF'f:. (B) Aristolle »!

(2) ___tlissue is reponsible for'increase in length of root and stem. -

(A) Collen-chyma JE’;!’:"

@ Apical Meristem (<8 2t

1 Ay

Ry e

/C) Robert Whittaker .2+ @ Emst Hackel J<=-

'B) Parenchyma ¥z

(D) Lateral meristem r'-f" S

i g o T
BZ FIPS | ¢ N LTy 7 1T Py b 4

(1)

(2)

(3) Structure of call that Is not Organelle:- -dﬁ"‘ U@:Tﬁ = ‘;‘F (3)
.Cﬁuplasm 47l (B) Ribosome fys? (C) Mitochondria L 4t¥L | (D) Golgi apparatus p"i'.;lufb‘

(4) Oscar Hertwig discovered Meiosis in:- e aod LS T (4)
(A) U2 1875 . 1876 (C) = 1877 (D) <& 1878

(S) Chemical nature of Enzymes is:- 4 ;J.L"-fui'/'ﬁ?:‘ (5)
(A) Cellulose 2  (B) Glucose /¥ (C) Lipids 2% @ Proteins ¥y

(6) The whole series of Light Reactions is called.- -a_'_.J.'.k*'?_: /frt'-‘q..,r}‘:gids-:-"'ﬂ (8)
(A) S - Scheme 3‘-5::..,.:'-'-" .Z - Scheme (‘EJ:.: (C) L - Scheme (:-‘:..J_'! (D) All of Ihése b

(7) Percentage of Protelns in Bread 's:- -:._-..J::.J..-J:»-{}J Ayl L‘ij_. (7)
(A) 12% (B} 11 % (C) 10% . 9%

(8) The average human heart beats per minute is:- *q_D'?:L:{..-.:-GJJ o (8)
(A) 60 limes =60 (B) 86 times =, 60 . 7Climes .7/ 70 (D) 75 times =, 75

(S) prevenis blood clotting. il 3;,:_,;__ ;.-1_,’&;,5 (9)
. Basophils Ayt (B) Neulrophils Pyx (C) Ecosinophills )5.-?:‘;1 (D) Monocytes _,;""L-.;;r'

(10) The tolal number of elements occur in Nature are:- -;_;_:lji_,ﬁ'u:-'bﬁL g bl Ly JJ,_.'E (10)
(A) 90 ® 2 (C) 94 (D) 96

(11) _;_waler makes composition of the protoplasm of o :'::l.--...-_..ék __s’.:...t..—,h}"l»,:;h A ‘f_u”ul‘rrﬁ (11}

allliving things (A 90-100%  (B) 80-90% (C)70-80% @co-70%
(12) Knowledge of ____ helps scientists for data analysis. e rx';...,J“.,,t! i...#; ;r‘.‘-b"-:; U L (12}

(A) Commerce ¢/t @ Stalistics €=

(C) Econcmics F=L?b- (D) Gecmatry ¥y <

Scanned with CamScanner



TIME ALLOWED: 15 Minutes OBJECTIVE (3@ o 15 =

MAXIMUM MARKS: 12 12= A4S
x

Ao \ S 3L Nrenenf WL s EJirp W3z - tLE2 D 1 C B (A N2l Ly -2
(2t -F bL:ub;/JfL,C APV LY; J{h}h -ﬁuraﬁ-,- T n:.w‘Lr Ll FaN) L/:Zl(u.i}'huy;.é 255
Nole: you have four cholces for each objective type question as A, B, C and D. The choice -L{f.:-d'ﬂ;-:.rﬂlf

which you think is correct, fill that bubble In front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. No credit wIII1 be

awardod in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. _

Q.No.1 ' A Ay

(1) Microscopic study of tissues Is cailed: e et S s L(-;J"C-’f WP Uil (1)
(A) Physiology (7.7 (B) Morphology J.#'5/4 (@ Histology J/~* (D) Genelics  ulisiza

(2) Logical consequences of Hypothesis are ca!le;:i: --;;.r!gl.";rif-'i#-’:if;f ¢ (2)
(A) Experimentation t./=| 7 @ Deductions #%3  (C)Reporting t/£,¢, (D) Hypothesis .ﬁ-?

(3) Which one of the following mode of nutrition is ?f-t":'kkuﬁrﬁﬁuﬂj LGS T (3)
found in animal kingdom?

(@ Ingestion \f)'." (B) Absorption %11 (C) Photosynthesis /1?! (D) Respiration uﬂﬂrs

(4) Which step of cellular respiration occurs in cytoplasm? e tbtl gfrjtg;fbﬁ/hu'ﬁ’ﬁfw-":’f (4)
(A) Kreb's cycle FL ) (B)E.T.C Lf-i.;-if'
(@ Glycolysis U5¥ (D) Lactic acid fermentation /% 7344167

(5) Which spindle fibres connect with kinetochore of chromosomes? S AL Z e KL s 56 ) ave S (%)
(A) Aster spindles Jir/~1 (®) Kinetochore spindles i‘.i:-;*.r;?f §
(C) Microtubule spindles iz b (D) Actin

(6) Term metabolism is derived from word. e J i1z s e (6)
(A) Latin (2 | @) Greek. Jty (C) English /1 (D) Germen /72

(7) In which of the foliowing photosynthesis process does not cccur? ?rﬁu:f:_)'is’y:;?ﬁuc L/ Y - J_i.{;w (7)
(A) Green plants —:¢ ~ (B) Some protist(Algae) (JL ')ﬂ{p{‘ @ Amoeba l=1 (D) Some bacteria | 264

(8) Which one of the following minerals is essential for Tq_duf’.:f_!.' P iel Aede it (8)

normal thyroid function?

(A) Potassium ﬁ-* 74 (B) Sodium (£3s (@) lodine u}ﬂ\ (D) Fluoride X1,

(9) Which of the following enzyme is present in Saliva? factbll u:lfﬂ;«r;t:}ivd;’:;-_u:;_}'_jﬁ,-u (9)
(A) Lipase /;:du (B) Trypsin ¢~/ @) Salivary amylase 'EJLI;{;E k- (D) Pepsin 73"

(10) In which stage of cell cycle, each chromosome is duplicated? Yo thar .L;’-::L-irrfug;.,ﬂ,b/u’l".f L (10)
(A) Glphase 214, @) Sphase 27 (C) Mphase 2 (D) G2phase 220

(11) Which one of the following is the funclion of Basophills? Ti:_-.r'b’ L@f i’}sr:'-..*-_;,dpf_’ iloss (11)
(A) Destroy small particles by phagocytosis (<. J ?fﬂ‘-j;;i_p{.{lf ;‘-E{.r:‘? (B) Kill parasites 7L ;h{,r'zf s
@) Prevent blood clotting &L e & 55 (D) Constrict blood vessels (7L ¢ SUtJws

(12) How much of our populalion is Diabetic? C IS Z L ST (12)
(A) 2% 4y (B) 3% A4l (C) 8% 34T @) 10% 4
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TIME ALLOWED: 15 Minutes OBJECTIVE (32 w15 =
MAXIMUM MARKS: 12 12 = ,»:f

/s:.;ﬁ L /CLIC}IJ:ILI:’J’:WLTUZ;—‘HL&: L,'Jﬁl:zé_;.t.biJlrﬁ{Q’ﬁ'dlﬂ -L}_f."'_-f:é_.p D s CB:A ;,Elf‘,;,ﬁ;k._":dr,-—ﬁ -y

LR {2V -ﬁ—-ﬁm’-‘:‘;:éfﬁ##'\.fi b 31 J(JI..F'.I -fﬂ:f‘jﬂfl.ﬂuﬂyﬁéfoL): Jov Lf..;:{,‘:fljnl_.}:_uﬁ -
Note: you have four cholces for each objective type question as A, B, C and D. The cholce -L)_'IC:JZ;.-.:.-IJI:'
which you think Is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark in that question. No credit will be
awarded In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 .

-1 Ay

(1) The example of micromolecule is. —+Jf’ufd .':-l? W (1)
(A) Lipds % (B) Proteins =4/ @ Glucose R 1 (D) Starch &/

(2) The hypothesis that stand the test of time are called: ...._,._‘3'.-:'2.!‘-:-". W JF Fﬂgﬁ"iﬁ:ﬁﬁ?d&é' | (@)
(A) Deductions 1} f. Theories .7 (C) Observations =!st>+ (D) Laws i

(3) A family is a group of related: -iLi';Fﬂr.:--,-!-'ﬁ:':-éﬁ (3)
(A) Classes b1t (B) Orders ¥i.5.T (C) Species €7 @) Genera €12

(4) The stack of thylakolds is-called: _Lg.;i'/f:fiiil"*fﬂfﬁ - (4)
(A) Cristae (& (B) Stroma ./ (C) Ribosomes !, (@ Granum F/

(5) The division of nucleus is called: ~u_?~;"£}'.’éﬁuﬁié ()
(A) Cytokinesis ,*¢#\- @) Karyokinesis »#¥y<  (C)Interphase 25! (D) Crossing over .-t/

(6) The phase in which chromasomes arrange ..;,._f_r.]—:’: — =] :’;_..s.,.f.'%_,.':‘,é:.-f ILJffo%_.Iyﬁ,égﬁrrf:f (6)

themselves along the equator of cell isicallea:

(A) Prophase p 1 (@ Metaphase p-2 (C) Anaphase ,ri’t;_l (D) Telophase /3-’:’

(7) The part of enzyme molecule involved in BE el e B A RS FL iz (7)

calalysis is called. = |

@ Aclive site _*—_-.'L:-.r'-!-:dl (B) Cofactor ,:Q':r (C) Coenzyme F 21 (D) Prosthetic group ..:s-._-f..@?“ 2

(8) Dark reactions take place in: -;,{_TE-:-'_.-,--E_-_L;!.?&E idaJFi (8)
(A) Thylakoid =~/ %3 (B) Cytosol 2 Jr_;‘fL— @) Stroma =\ (D) Cristae 2077

(9) One gram of proteins contains energy: _;_{j' HL;-:Iu':r|--'f-l.-£'L;?"f'! ¢ (9)
(A) 09 kilocalories .5 09 (B) 07 kilocalories .48 07
(@) 04 Kilocalories ¥/ 04 (D) 02 kilocalories 7.¢5¥ 02

(10) Enzyme present in saliva is: e AAIE LI (10)
(A) Protease :,:'Jr; @ Amylasg 2 (C) Lipase = Ju (D) Pepsin Sy

(11) Evaporation of waler from the surface of plant is called: - rlk*rtlgpﬂ{-/-;-h& ¥ JE:-L‘:L- " (11)
(A) Guttation z,-;’-""f (B) Translocation ..;;5‘!}'1'} (C) Transportation .;,"3-'-':-:;‘.1} @ Transpiration J‘-fig-ﬂﬁ

(12) The blood clotting protein is: 3 ,_,.: driys  (12)

(A) Albumin /Y @ Fibrinogen W A6

(C) Antibodies zig;j':*l (D) Hormone O
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OBJECTIVE %/ 2015 = 2
MAXIMUM MARKS: 12 12= AF
fe B & SAD I3 Sl SR S I_Jrf':vffé..n.":. L-.{:J'r;;:{db’;jiﬁ ..L,Qiii_-.: C.xsCBA &Llﬂjx‘kﬁdlfﬁ s

(244! -fLﬂ:u-‘}/:j(j:{ﬁcﬂr‘L(i-é.é J{,’Jﬁf: -fmy‘jkﬂ...afﬁuflgﬂau‘l,ﬁ_& Yo LS nrmlice L S
Note: you have four choices for each ubjective type quostion as A, B, C and D. The choice VLV Z‘-’-"-f Uly

which you think is correct, fill that bubblg in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubblos will result in zero mark In that questien. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
-1 /-,‘"Jlr*

Q.No.1 |
(1) A group of cells performing simitar functions is called et SR il ()

TIME ALLOWED: 15 Minutes

@ Tissve (E) Organ S (C) Organ system S (D) Organism ¢#41
Wi esn L Sewli A ()

(A) Pinus V'::E ~ (B) Keckar /_f/ ' (C) Cactus J‘g/ .Cinchnna t’.rE'

' DY W,

(D) Animalia W~

(2) The bark of which tree was very suitable for curing malaria?

3)

—

(3) Prokaryotes belongs to which kingdomn?

@ Monera £y (B) Fungi (¢ (Cj Plantae Si

(4) Number of Indus dolphin in Indus niver of Pakistan is: - -*‘«'-‘.‘Ja.:’if:hf W e s E-l'“-c‘-'"c’ﬂ; (4)

(A) 800 (B) 700 (C) 500 ® 600

(5§) The arganism which has no cell wall? ' AP I b g (5)
. Animals /9L (B) Fungi Jb’ (C) Bactena | ,§§ .. (D) Plants sy

(6) Companion cells are present in which tissue of the plant? Bl e pnaadS Vr:r""'L/'Z..:._J.;' (6)
(A) Xyllem (B) Cork ¥ @ Phioem /¥ (D) Epidermis /i

(7) Reduction in chromosome number is called. _.‘;.Jaafd;iilﬁﬁd}rr-,;" (7)

: . T . { - I .
(A) Regeneration o/~ 2. (B) Vegelative propagalion --':_; w7 (C) Mitosis J”,'J-_ .Meinsns I S

(8) Lock anc key model was proposed by a German-Chemist -LFr:ﬁ'._*..--."u,"_ZLhé.. Y BER S (8)
(A) Kelvin L-,u':" (B) Bu-Ali-Sina iy . Emil Fischer PJ< (D) Koshland &4
(9) Main phctosynthetic pigment in plant is: < ,_._J,_@-“";;:(-. ! (9)
~< v ) — -1

"

(A) Chlorophyli-b h-d":uh/ .Chluraphyll-a a-d’:;rf (C) Chlorophyll-c c-u“;.r;" (D) Carotenoid 3155,/

(10}" Deficiency of Protein causes a disease: - s Jﬁyd;k ol lu{&:j':{ (10)
(A) Malaria |+ (B) Anaemia L<! (C) Goiter ( ¥ ) Ff @ '1arasmus e
(11)  Which type of blood cells have body's defence system? Yo Jb.rl.ﬁ};,i G:h’/‘-’r:'u‘gr‘ff)f oy (11)

(A) Red blood cells <4z, @ White blood celis <ihesy  (C) Platelets uJ.*.-_J; (D) PUS S
12) On I ‘ L .
(12) e cubic miilimeter of blood contains platelets. ﬁu;!l*:r;.-’i-)-;f;i Sl Jﬁ--r\-{ Lys  (12)

@ 250,000 (B) 1500 (C) 15000 (0) 250
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TIME ALLOWED: 15 Minules

OBJECTIVE (%%

MAXIMUM MARKS" 12

which you think Is correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

2 15 =

-1

12= A
Aeich § AN IS L Nrerne fo WL E L g Wiz LD 4 C B ANl L vy
(24 d A Lo SL L2l Sty Mo raifd faimSL G Sk § LSS nimsgie ki -Eos

Note: you have four choices for each objective type question as A, B, C and D. The choice -QﬁJ}fqa Uly

many questions as given In objective type question paper and leave others blank. No credit will be awarded
In caso BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) The number of Bio elements in nature is:-

(A) 13 (B) 14 (C) 15

(2) The bark of plants contains quinine is:-

(A) Mango tree =3.6¢T (B) Pinus u"":g (@ Cinchona o

(3) Viroids are composed of only:-

(A) Protein ¢fs @ RNA 10T (C) DNA fe/is

(4) The basic unit of classification is:-
(A) Genus J"

(5) Lysosomes were discovered by -

(B) Order 5,7 (@ Species £y-

(A) Golgi & ¢ (B) Rudolf &__il},

(6) Organelles, those have their own DNA are called:-

(A) Golgi bodies 75u{¢ (B) Ribosomes rysL

(7) Accidental death of cells and living tissues is called:-

(A) Apoptosis J~ <! (@ Necrosis J”:).;." (C) Sinopsis J-ﬁ

(8) Metabolism Is derived from Greek word meaning:-

(A) Division (:'" @ Change L& X (C) Deduction J

(9) The lose of electron from an atom is called:-

@ Oxidation 247 (B)Reduction u”2,  (C) Anabolism (k!

(10) The disease caused by the deficiency of lodine:-

(A) Scurvy ()~ (B) Rickets )

(C) Malaria |2

(11) The average life span of Red blood cells is:-

@ u: 120 days (B) ¢ 130 days
(12) In normal human adull the mass of Heart is:-

(C) v» 180 days

) Mitochondria EJ‘:‘?‘JL

Y

<1 /-:Ulf

PR TR
® 16

e S LSS sy
(D) Guava tree =Sub/!

--" - b #
-;{?LHJ”E’ S J g -2V 4]

(D) Carbohydrate /22t

=3 Jb"l.f:!:i J u’?'l 1
(D) Class JW¥

=L ..:.JL J:.,'r‘.r"r"i!

@ Rene De Duve i_g5id. (D) De-Lamarck i Sfluss

B 2 DNA g2 ( 4T) L

(D) Lysosomes ,‘f'rr;IJ

a3 GEinmk
(D) Regeneration /<2,
SGL S e by At
(D) Matter
--:;..t'llr(t:waUt’d:}vE'l;ﬁ-lu‘r
(D) Catabolism (A
eSS e JUegsé
@ Goitre ¥
_:l:.t'.rr.*:._L;fimhﬁb’?':ﬁ{.r

(D) ¢ 90 days'
- t‘::JLbU:.":uL-:'ISLJ;t

(A) rl/ 200-400 grams {3) rf/ 250-350 grams (C) rl/ 100-200 grams (D) rl/ 150-200 grams
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TIME ALLOWED: 15 Minutes OBJECTIVE (%22 e 15 =

MAXIMUM MARKS: 12 12= AF
S cp § MBI OWL R S u,;.,g.;_,a.wdar,uqrqm SNELEHID S CBA N2l Ly
{441 -fLHJLﬂ)ﬁ) qu: .:.-..rr"f L/:}..E J(Jj.?'lj -fﬂxﬁbu*lﬂuﬁtﬁby’tr .Z_/.'.E Jox L L)qu:ﬁhuy.:._{i )
Note: you have four choices for each objective type question as A, B, C and D. The choice .q/.:J}fmmr
which you think Is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark In that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
In caso BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q-Nﬂ-1 = ‘/:;d[r
(1) Which organism has Colonial Organization? ?{-Jkdiﬁftﬁnﬂ”’{ﬁ’w?& (1)
® Volvox 4 (B) Amoeba Lz ‘ (C) Frog Sz (D) Mustard plant €Uy,

(2) Which one of these is not a characteristic of a good hypothesis? e Jﬂuﬁfd"?&&é Lheetr? OJJ’::- Y (2)

(A) Must be consislent with available data » 6Lt l?  (B) Must be testable n }6L i bE b

@ Must be correct s=ruliil (D) Must make predictions :r:b:u"-??J}E.

(3) Bacteria are assigned to the Kingdon:- -t L*uﬁr‘lﬁ'r _ Nk (3)
(A) Protista 14, @ Monera 12y (C) Fungi (¢ (D) Plantae (51

(4) The national animal of Pakistan is:- eI ()
(A) Chakor & (B) loex 5T ©)Unal i @) Markhor /s

(5) Which of these do not have cell wall? ?,-:_Jm,r.ﬁﬂln_j’-’u:}l!lﬁf (5)
(A) Fungi Jlf' (B) Algae dll @ Animal .5 (D) Plants <

(6) Who developed first microscope? Td; Jhi—u’;—;‘:f s (6)
(A) Robert Hooke J s _ # Zacharias Janssen u,-""l,-u_l:;b’.i
(C) Louis Pasteur /2 &Jj’ (D) Robert Brown izt 2L

(7) During which phase of cell cycle spindle fibers are formed? ?LJEE:-};{UJ;:;‘LI:J#/J.{ waf (7)

(A) Metaphase /-‘-’ bz (B) Interphase ,5;7';-'1 (C) G-2 phase ;.’ 2-J @ Prophase ,’:":.;
(8) Structurally enzymes are made of.- | Sl /j, y‘:ic;.sdu""' L (8)

@ Amino Acids SAE W (B) Minerals 7~  (C) Vitamins i (D) Fats u"""j

(8) The Covalent bond connecting two phosphates is indicated TSSO S TROE Y S I Y G (9)
by the symbol:-

(A) Ralio ot (B) Proportion />y (@ Tide J% . (D)Colon o

(10) Energy present in one gram of Carbohydrate Is:- _f;-_Jnd..HUC(l)LQLUﬁ;E}M (10)
(A) ;;;:.‘."r"’ 03 kilo caluries' 8! :5;;‘./;“’04 kilo calories (C) :;u':j;b/ﬂ? kilo calories (D) :;;:E’.TOE kilo calories

(11) Valves to prevent the backward flow of blood are found in:- gl L uliggnlyd (1)
(A) Arteries 72,1 = (B) Capillaries :,-;x‘.‘.f'r (C) Rectum ("g; . Veins 7

(12) In a normal adult human, the weight of heart is:- etk hloiidr  (12)

(A) 1/ 200-250 gram  (B) 1/ 150-200 gram (@ 1/ 250-350 gram (D) (1) 100-200 gram
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TIME ALLOWED: 15 Minutes oBJ ECTIVE O:fic.-ﬂ? e 15 = =

MAXIMUM MARKS: 12 12= AS

Aol | /&lf;}hﬂ-’aﬁfﬁ*lﬂ:—am.u: u:ﬁbéé_ﬂbﬁdh‘ﬂ{qwlﬂ -u_llfé-: Dus C.B-A :-il;’..'f@*ﬁdlrﬁ oy
¢4 Koo A LS Lo St CiPslb s B L §E T4 SN § LS Ambie i -
Noto: you have four cholces for each objective type question as A, B, C and D. The cholice -qﬁJZf.-.-ulr

which you think Is correct, fill that bubble In front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark in that question. Attempt as

many questions as given In objective type question.paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Microscopic study of tissues is called as:- et LEHAGY (1)

(A) Physiology Jst7  (B) Anatomy (st @ Histology J./*#+ (D) Morphology ReIN
(2) Element which takes part in making the body mass of a living organism:- - G2 LUK L unist2 W (2)

@ Caicium (:y (B) Argon &/ (C) Silver s (D) Aluminium (£

(3) Cause of malaria is:- PP (- SN )
(A) Dengue =} @ Plasmodium ﬁf:‘.iik (C) Paramecium (€~is (D) Amoeba k!’

(4) Measure of the variety of organisms present in different ...::_t'ﬂfl‘;LJ’qu:uulﬁlyﬁr‘ud)"' £ (4)

ecosyslems is called:-

(A) Community J};{ (B) Population u)"“l{i'. (C) Species (v . Biodiversity (217

(5) Number of subunits of ribosomes:- . _.::w';_,(-fi.....q,t;frfb (5)
@ Two » (B) Four b (C) Six # (D) Eight #T
(6) In . chromosomes arrange themselves S s AL y.{'_dff..rf:;_lyrﬂ/ut (6)

along the equator.,

(A) Prophase }3-:{ @ Metaphase ,dt: (C) Anaphase /‘.-"t;l (D) Telophase /;'JE

(7) Phase in which crossing over occurs:- _{_J,;,,,I,E.chbﬁ 3 o
@ Prophase | | /'3:..; (B) Metaphase | | /’L¢ (C) Anaphase | Ij:"l:.;l (D) Telophase | Ij:"):'

(8) Enzyme which removes protein slains from clothes Is:- | _.;l-_.hl:'lbhﬁw"f;.;a. ! ,’;‘}FI;&I (8)
(A) Lipase ﬁdﬂ (B) Amylase /'JJLI @ Protease :.;IJ:{ (D) Kinase ;::'JE" _

(9) Organelle in which photosynthesis takes place:- -;I-..f};g;:fb}}ql;m. 1l (9)
(A) Mitochondria L2 ¥ #1 ' Chloroplast -.*.--*I#u)‘ (C) Leucoplast 2~k e (D) Golgl apparatus u'!..;!;f §

(10) In stomach, pepsinogen is converted into:- : -.;.rl,-cﬁ);rdiuﬁf‘:‘uf e (10)

X @ Bicarbonate 260 (B)HCI MJ;';J.H @ Pepsin 7 (D) Gastrin ur

(11) Element _______ Is the structural component of Chlorophyll. -el-..::'r:t’:.-"bJJ';;;r LLLL we (1
(A) Nickel d" (B) Copper {I" (@ Magnesium (-"'P (D) Silver I

(12) The other name of platelets is:- --r‘:-rtﬂfm"uy\-'% (12)

(A) Erylhrocyles ..ry b:/?-';! (B) Leuknc;rlas u‘y LY (C) Lymphocyles u’:-f Lf.»‘) . Thrombocyles u,u lf'r-";
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BIOLOGY (NEW SCHEME) (=) &%

TIME ALLOWED: 15 Minutes Q_BJECTIVE g)‘_‘:ﬁ.ﬂ & 15 =

—)

MAXIMUM MARKS: 12 12= A4S
S b | ﬁtﬁhﬂﬁaiﬁ*uym.gﬁ u.}uffag_abﬁ.jm{mu ~SNELE D 4 C B A ..-:-sm@y&dm -]

(3¢ NI e L Lol St i eadi e SLSE S § LS nAmslie i .2
Note: you have four cholces for each objective lype question as A, B, C and D. The cholce -;{f.:g)"fm-wr

which you think is corroct, fill that bubble In front of that question number. On bubble sheet, use marker or pen

to flll the bubbles. Cutting or filling two or more bubbles wlll result In zero mark In that question. Attempt as

many questions as glven In nbjnctl'vn type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 '} /_‘Ulr
(1) The study of fossils is called:- et (1)
(A) Histology d/*+  (B) Morphology &.-'};;' (C) Biochemisty (/¢ (@ Palaeontology (/7 ¢
(2) is a part of digestive system. L2 @)
(@ Oral cavity (Ll (B) Trachea I_f) (C) Bronchi Jm..-.- (D) Larynx JQ

(3) One litre of water weighs about-- g AL ()
(W) (/789gram @ (S1000gram  (C) (/2000 gram (D) (¥ 1.5 kilogram

(4) Class of Pea is:- A Ul 2 @
(A) Plantae (St (B) Fabales &} (C) Pisum (- J}_ (D) Magnoliophyta &6 »¢

(5) —____ are colourless plastids. _ gt (5)
(A) Chromoplasts *i+4)" (@ Leucoplasts /it ¥
(C) Chloroplasts u*' l{;mr ' | (D) Chromoplasts and Chloroplasts g}:" %uﬁﬂu} ltruf'

(6) Chromosomes are composed of DNA and . B aeiSenS  (6)
(A) Lipids % @ Proteins Xy  (C) Carbohydrates J':-.:.T-"H;( (D) Glycerol J:/.r

(7) The exchange of segments between non-sister ..r,-._t'kaJ:'; ru,ﬂuy,u.f_‘mufy’u tL ;rﬂfﬂfn (7)

chromatids of homologous chromosomes is called:-

(A) Synapsis ~¥JL- (B)Chiasmata &l @ Crossing over sl £/ (D) Bivalent skl

(8) The enzyme that work in acidic medium is:- -;_fs;;:mua_,?rbcrzyqug (8)
@ Pepsin 7 (B) Trypsin «t) (C) Lipase dU (D) Pancreatic amylase ZSu gL 5

(9) The nitrogenous base present in ATP molecule is:- -q_wé’-:)‘:mrw d(ﬂéqag.l (9)
@ Adenine 1 (B) Uracil J¢ (C) Guanine 21/ (D) Cytosine 27\

(10) Mineral required for normal functioning of thyroid gland is:- -q.duﬁe.’.ﬁfd:tﬁffglﬁxdf (10)
(A) Zinc £ (B) Iron T @ lodine /3¢ T (D) Flouride 71,9

(11) Single layer of cells that surrounds pericycle is:- -Q-ana-/;f Vdﬁf#&" Uk (1)
@ Endoderms 73:%!  (B) Cortex dgi' (C) Epidermis (23§ (D) Conducting tissues JHES

(12) The type of white blood célls that prevent blood clotting:- -?%aa}fuﬁﬁr’ Sxhes  (12)
(A) Neutrophils A< (B) Eosinophils Jﬁir;_'l . Basophils Az (D) Monocytes V2% o
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TIME ALLOWED. 15 Minutes :

OBJECTIVE (/3

MAXIMUM MARKS 12

S | f:irr;}'rib?:}fihfiﬁ.lﬂ.:-ﬂuaj u:}hkc.é_lé‘_bﬁdlrﬁiqrdlﬂ -u'_?i'-"_’é_.l DoCB:A .:.-l,h?‘..‘f.aké.;_.!‘rj
{242V -I'Lt;yuﬁfq"'g_ifgﬁ:.uﬂgﬁ_):ﬂé I{J.r}h -fﬂar‘;ﬂ?lﬂuﬂuf.:-uﬂ!i_/;: Joy b L/.é:@rfhu}i:--{" S
Note: You have four cholces for each objective type question as A, B, C and D. The choice -u:/.':‘.)'fs:-:-u'r

which you think is correcl, fill that bubble In front of that question number. On bubble sheel, use marker or pen

to lill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as

many questions as given in objective type question paper and leave others blank. No crodit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Deficiency of lodine causes.-

(A) Scurvy -J:/' (B) Rickels u""':
(2) _____isaninheriled disease.

(A) Malaria . 2 (B) Typhoid X'yt
(3) The Scientfic sludy of Plants is called:-

(A) Zoclogy J.2":) @) Botany 875
(4) The study of fossils is called -

(A) Physiclogy (J»\;} (B Genelics LSl

(5) Dengue fever is transmitted by -
(A) Culex mosquilo /':./jﬁ’
(@ Aedes mosquilo ,r":::.gl

(8) Naliona! bird of Paksitan is.-
(A) Parrol ©# (B) Pigeon .F.‘:”

(7) The major component of cell wall of Fungi is:-
@ Chitin ¢ (B) Cellulode ik

(8) Division ¢l Cytoplasm is called -

- Ure-do iz

(@ Gotter ;¥ (D) Malaria |2

o a
-.'I"._. JJL: u".u...:'r"

(C) Dengue fever .uéu":;.? (@ Thalassaemia L.l
H.:.:‘_t'li:":ﬂﬁ-‘;,":'.r":f_):.!;'
(C) Microbiology d:fpfl (D) Morphology u‘.,’;r‘..:'
g E e Ly
@ Palaeontoiogy SK'#y% (D) Parasitology J7/#vi5
-T—fl‘:_{:?éuﬁ'j
(B) Anopheles mosquito /': P
(D) Bacteria | 2%
0.3 i

~ L IEYT

- &

(C) Sparrow |7 (@ Chakor(Partridge) ( &%) 2
- s 21K I S
(C) Cholesterol Ji/~%f (D) Peptidoglycan uf{lﬁ?rﬂ'ﬁv

e JE e b 5L

(A) Karyokines:s y:"‘b’.r_';;'f @ Cylokinesis » 55 (C)Phragmoplast =l :"-:) (D) Phagocytosis . el

(9) When lumors remain in their original location where they are formed, are .L,j_:éf I .._,'_:.‘i.u_li.:‘_;_n_gduﬂ_—'.r.g

called:- (A) Malignant lumors Jf.l:'..'-.""ﬁ“ ' Benign tumors J/::';_-frd (C) Melastasis J"’-"'L': (D) Budding _E';

(10) The enzymes belong 10
(A) Carbyohydrales ._."':.,.'-1_.:.‘.&'
(1) Process of Glycolysis i1s found in:-
(A) Ribosomes = rrts

(12) Villi are found in -

(A) Esophagus = Jyr.’i ®) Small intestine L2 v (C) Large intestine = & ikl (D) Stomach _Z:.0

calegory of malecule.

(B) Nucleic acids ja<i L8y

ISP N 0 7
(C) Lipds 74 (@ Proteins %

- T::J;h’ }"';UJ':“"

(B) Vacuole ufdr:fr @ Cyloplasm L »v (D) Golgi complex L,r.‘gﬁﬁi’

S U
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TIME ALLOWED 15 Minutes OBJECTIVE u:fr[".ﬁ w15 = o

MAXIMUM MARKS. 12 12= A5
Ao o\ SISl R e nea f WL s L Ip V2 - E L&D i C B ANyl .

(2" J‘....lfl:ﬁ/df;.ﬁuﬂ‘i,("_; . J(Juh -fﬂxr‘wul?:;ﬁgﬁ-.ﬂflfi_/.g Joy L L/_gfuuhupr.-.f -&p?
LS iy

marker or pen

Note: You have four cholces for each nh]u:tlvn type question as A, B, C and D. The cholce

which you think is correct, fill thal bubble in front of that question number. On bubblo sheel, use

to il the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question, Attempl as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES ara not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1

(1) 15 an example of micrecmolecuie.

A A
ededust ()

(A) Starch .- @ Glucose ik (C) Protein ufsy (D) Lipids /5
(2) The percentage of water in the protoplasm of all organisms is:- o Drsus S Jg L hy Loniery (2)
(A) 65 - 70 % (B) 55 - 6O % @ 60-70% (D) 60 -65 %
(3) Biclogisls use discussion and reasoning procedure to formulate a:- -U_T'E*,_:LJ:G’Z)UL*"‘i-?) BN Wan?d (3)
@ 'iypothesis J"‘;;:", (B) Law /4 (C) Theory (ue (D) Data L}
(4) A group of related familles is called a - t‘ll».-’;.-:fi';:"‘jd"; (4)
(A) Genus g (B) Speci;s ;fu: {' Order .51 (D) Class JI
.UEL::JE:_..,?:':’:; (5)

(5) Chromosomes are composed of:-
(A) Lipids = &' (B) DNA SRR Y (C) RNA a:_r..l';—:hT @ DNA and Protein :.:_-w‘f:{.—s'a..lc,_{ldi

: . vidl. . T T
(6) The movement of molecules from an area of <t oS M IUL G  Sdly Sl i€ (6)

higher concentralion to the area of lower concentration is called.-

(A) Osmosis ) (B) Active transport ...f.f"l..- L @ Diffusion Uik (D) Passive transport -.:-.u:;‘;'ﬁr;?

(7) ____ isreversal of Prophase - -'.Jts’}.i:..;-bf — (7)
(A) Melaphase ,E'L‘: (B) Anaphase ,,:’tzl (C) Interphase ,.";;ff . Telophase ,E.}:L."

(6) Enzymes which are used for the removal of bl el L bl ,ﬂx.‘.’:;usﬁ 27 (8)

protein stains from clothes:-

. Protease :;'J:.; (B) Amylase ;cclil (C) Lipase ;5% (D) Trypsin or+/

(9) 7.3 kilo calories/inole energy is equal to _____ cal/mol energy. .4;....:r,:[. J..Fldr'a};; g P J.Fl;_,':'dgu‘./r; 7.3 (9)
(A) 73000 (B) 73 ’ 7300 (D) 730

(10) Bacterias living in Colon produce:- L gl ,-( L alydd  (10)
(A) Vitamins B >t (B) Vitamins C 0 (C) Vitamins D 1> . Vitamins K >~

(11) Blood pressure in Veins 1s - : ...cl- n:,-*.:.;ii.-.,;-':r':: (11)
(A) High sl (B) Very high alic (C) Medium 2i*» @ Low ("H

(12) Ventricular systole lasls about in:- - rgrv"‘ck}Uﬁ-"’)ﬂ-ﬁ: (12)
(A)0.1sec 24601 (B)0.2sec LLikE D2 @ 0.3sec ULiE 0.3 (D) 0.4 sec (2iiE 0.4
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OBJECTIVE (% e 15 = Dy

12 = _,".;L..b’

TIME ALLOWED. 15 Minutgs

MAXIMUM MARKS" 12

A of ! Alrﬁﬁhm.}flﬁ*ﬁ?!ﬂﬁ-’u&yﬁ uﬁhéé.:&:.lrﬂul'rﬁ {Qﬂ_}b’.‘ ..uji'::{....l Do C.BA .:;ilﬂ;ﬁ;l;ﬁdlrﬁ il
it K AN RSS2 4 SnFo narst ik e SE TG JaX | LS nivmtie L1 5

Note: You have four cholces for each objective type question as A, B, C and D. The choice -J_/C:J’ﬂ:»:.:.rmr

which you think is corroct, fill that bubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles wlll result in zero mark in that question, Attempt as

many quostions as given in objective type question paper and leave others blank. No credit will be awar&ud

In case BUBBLES are nol filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) The microscopic study of tissues of organisms is calied'-

(' Histology .»'#~*

A Ay
s @

N DALY LY. Y 1 7 MDD (1)

(D) Physiology 7.7
-l.._.,_,.v' JI’!‘-J'-!/CL (2]

(A) Morphology (r'r.s*  (B) Anatomy Jl:'.‘

(2) The example of Micromolecules is -

@ Glucose /¥ (B) Lipids 2 (C) Proteins /<y (D) Starch &

(3) A Scientific Law or Principle is an irrefutable:- Ry, > 1 | A/« '...-':i LU IHL (3)
(A) Hypolhesis J"-’:f} (B) Deduction ,_-,:{;“5 (C) Experimenl ..f- . Theory du:.;

(4) The largest Taxon 1s'- R L D (4)
(A) Family J* (B) Order .37 (C) Class ¥ @ Kingdom (.:5’

(3) Chromosomes are composed of:- A s W o ,?rr':f (5)
@ DONA and Protein o%57.5 DNA (B) RNA and Protein ¢#14.+' RNA
(C) DNA and Lipids S 4 ~'ss DNA (D) RNA and Lipids JjZLs RNA

(6) The most common chemical in Primagy Cell Wall Is:- -.;_,_,{.‘2 LIIL-L?LLHLJL- - S JoS /l g (S)
(A) Glucose W @ Cellulose ik (C) Fructose i) (D) Maltose J+'\

(7) The division of Nucleus is known as:- -?JLL"?JU#U'E'{ (7)

(A) Endocytosis ! (B) Exocytosis U #isf1 "

' Karyokingsis 5u.is!s y, us

(8) When organic co-factors are tighlly tound to enzyme,

(D) Cytokinesis .8l gl
sl I.’-" J'.Jr E s s L -"rl = ,,,.-’ _,r___:_" S (8)
they are called -

(A) Coenzyme ( 152 s

(B) Apoenzyme 1:zli:t (C) Cofactor ,-C‘ g @ Prosthetic group 1 i i

(9) During anaerobic oxidation of glucose molecule. N dv.jr”' /)t I.ATF’ Jo f-,..J'T_L",,.-I 4\, q, _{; (9)
l.,.""" Tin
ATP mclecules are gained as nel profit
®:? (B) 4 (C) 6 (D) 8

(10) The largest gland of the body is:- 1ub) |r 0)
{ e Ry {1
(A) Pancreas J{ A (B) Heart . Liver 5 (D) Galibladder .+ et I
(11) The responsible for transporting food sub 1 AN XY
| p g-r stance lhroughout -.-:_L“r:flj_a:{:.;r;"f;u..ﬂ.rf;_,:r’ﬂ?f_w:,:f (11)
plant bouy is - (A) Xylem (=1 ' Phloem I«’:” (C) Epidermis ‘,f".i\,;.‘.-' (D) Cortex ._;Eir‘:"
(12) The larges! and strongest chamber in the heart is - BLea, 4
~ s br Tl L (12)

(A) Right atrium = A1t ' £ 4 : , A
. I (B) Leflatium iUl (C) Right ventricle Aaulh @ Left ventricle K %l
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Biology (Objective Type) ((ﬁ’/}’) G‘-ﬂ_l?_l:’

Marks: 12 Time: 15 Minutes 2215 =3 12://
- ﬂ}JIJ*Lf’{Q EJL‘! g2 L_r:"f-.:.-rﬂ..; TJF:.....JE L,."J'ru_‘_u‘ “‘ié_ ) D.‘J'.C,B,!'...‘:-Uﬂ.'-ﬁrkéulirﬁ quté F(,}':’. U":/‘ L:"d:.:.—. Rl = L”rl’i:' iy

| el e LsLD L CB Az LL

N‘.'_'.JTE: Wirile answers to the queslions on objeclive answer sheel provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correcl, fill the corresponding circle A,B,C or D given in front of each queslion with Marker
or pen ink on the answer sheel previded.

1.1. Scienlific study of animals is calied: :ug.-'-:_'frﬁ".!v'u"' L«ﬁuuﬂg &
(A) Biology (%)'k . Zoology .45 (C) Botany (D) Microbiology &Myt
2. The author of the book "Al-Qanum-fil-Tib" is: S LI L 2
(A) Jabir Bin Hayan wl>ersb (B) Abdul Malik Asmai (- 1.0U1.*
. Bu Ali Sina Lt+({y (D) Roberi Brown il
3. Those hypolhesis thal sland the lest of lime and never rejecled. U ;/u{:!;{:ar; GRUFIL =02 Jf? et 3
@ Theories 72 (B) Laws s (C) Principle J% (D) Deductions %
4. In bionomial nomenclature the first letler of the___ name is capilalized: ...-;_.mi::...i;u;;u’___gﬁ,éfuf' J’J"}‘JE 4
. (A) Family L,,H- (B) Class ¥ . Genus U™ (D) Species ,-_:L'Lf'
5. RIbosomes are produced. | S L A 5
(A) Endoplasmic reticulum A5 A5 sk (B) Nucleoid XV
) ' Nucleolus 2% (D) Nuclear pore .7 2%
6. Colourless plastids are called: R 57218 SYRN S

(A) Chioroplast ks (B) Chromoplast writs/ @ Leucoplast w2 (D) Etioplast ot

7. Cells which form (he body of organism are called: ?LELM?)YL!;L&(’-‘E’;I;@ o
(A) Germcells *¢2  (B) Gameles J/ @ Somaticcells <_&,- (D) Parent cells iz
8. Enzyme involved in break down of starch is: _.-;_t}}‘;.iifd‘:;@;uﬁf’l;;:r 8
(A) Lipase ;_-,Ju (B) Prolease ,-5.:':.; & Amylase /'JJLI (D) Pepsin 5
9. Process of glycolysis occurs In: -q_rﬂ;;bifb’/h:_ﬁ[{ 9
.Cylnp!asm k7 (B) Nucleus u’-“.{ (C) Mitochondria L.x¥¥\ (D) Chloroplast ..*..-»'Lg.u.ub’
" 10. In stomach, pepsinogen is converted into. e oW AR AP i f e 10
. Pepsin 3" (B) Bicarbonale .:ﬁ_-_f:_';b’;_:lg (C) HCL Hfuﬁﬁ;;g} (D) Gastrin L-J)':" _
11. In mos! plants food is fransported in the form of: ?.:-_tt,l{.:..u;"l.uJ&ﬂ_ﬁ;ﬁduu;_;}u;J .11
(A) Glucose ¥ @® Sucrose if (C) Starch &b (D) Protein s
12, Which chamber has thickest walls in human hearl? 'E'uj&ruj:’.:...,.--L,g;l.f;J.:L;ci.tff_'d:JLJr 12
(A) Left atrium (=214 (B) Right atrium =z
. @ Leftventicle JAull (D) Righl ventricle 24Ul
t nar na A
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BiO]Ogy (Objective Type) - (d::’/") ":"E-l:}

Marks: 12 _ ~ Time: 15 Minutes 2415 =9 . 12:/
. g dedings” wflf"':‘l_-'ﬂ../’wl,,gi.-':;.;mr.c.ﬂ.a.:..gr;:.-_ﬁ;giJ:rﬁg‘irqr@ﬂmfvdfdx;.gmﬁ; il

U fe Sl I e e SuhED L CB A sZE L
NOTE: Write answers (o the queslions on objective answer sheel provided. Four possible answers A.B,C & D lo each question
are given.Which answer you consider correct, fill the corresponding circle A,B.C or D given in front of each queslion wilh Marker

or pen Ink on the answer sheel provided

1.1.  Which of these major blo-elements s in the highesl perceniage of protoplasm? r.;-_.:g;.:..,:.,.ft-:udrng;:;m—i'-*'u’ 1.1

- : v
(A) Carban /¥ (B) Hydrogen (J/as4 @ Oxygen & (D) Nilrogen /i1
i EuU Y e J Ui ulz 20 2

2. The pant of earth inhabiled by organisms communities is known as.

(A) Population %t @ Biosphere #¥|  (C) Species . (D) Co-ordination 7=(§3/%

- v
3. The basic step of biological method is: ce (Al A2 3

(A) Hypothesis u”-;:ﬂ (B) Deduction oL @ Experiments t/a\ £ (D) Observations t/=ls-

- .s A%
4. Scienlific name of star fish(Sea slar) is, ety LEsL 4

(A) Allium Cepa L (B) Zia-maize <L

@ Asterias rubens gL L (D) Carvus splendens ri ot
5. Chemical present in the cell wall of plant is: - bx .-L'f:ngL!_.,L,CJl:J-’Juu.;' 5

(A) Chitin ur{t"' (B) Lignin u‘ﬂ @ Cellulose e (D) Plasmodes zirl

6. In 1974 Noble Prize for P{_hysinlugy and medicines won by. #Dﬂeﬁi{J:‘F'waynld:‘gﬁuﬂg?d B

. Rene de Due #3Ji¢ + (B) Golgi u{t"’ (C) Lamark S (D).Aristotle #ﬁh
VU gL 1876 .7

7. In 1876 meiosis was discovered by:

- (A) August Weismann _L-;:;;:r,_;,ﬁ | (B) Golg! Lf ¢
(C) Walther Fleming L 0 Oscar Hertwig ..fr._'.-,-}/‘f
8. Lock and key model of enzyme action was proposed by, _t_fJ;%J;LJ ol SV rfl = .8
. Emil Fischer ;»’.J’fi (B) Winhelm ('fu;; (C) Calvin w.‘f (D) Daniel Koshland PACYY ot
9, The most important photosynthetic pigment is: i 2+4 (Photosynthetic) 5 I fleer .9
6 Chiorophyll a,  afss¥ (8) Chlorophylib, b
. (C) Chrnmnpta.st ..'..-—'u__-r'.:/ (D) Carotenoid j_.g—’tJ;,_-_(
10. 'One gram lipids conlains energy. . s S %! _;':_g 10
(A) 04 K.Cal . (B) 06 K.Cal @ 08 KCal (D) 3.8 K.Cal
11. About what percentage of our population is diabetic? Y | 220 >4 FUATS e 11
@ 10% _(B) 12% (C) 25% (D) 33%
12 1n normal adult the mass of heart is: T"-:-r-".;u-;.’FLJJL}:éjI:JJt 42
(A) ¢/ 210--250g @ /2503509  (C) (/) 350--400g (0) ¢/ 400--450g
233-09-A- W

1
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: Marks: 12 | Time: 15 Minutes 15 =3 187
/',UU",,_IL;LEFL}E_*‘:.h__,r:-"'-r._;--;,?_ o e é D C,B ﬁk.:..UJ’_p(;b.{:J vy & fd EJls Lf':/' dfl_f.' 2L = UV 0%
S L ;J-rl.f Jrr_. ;l:_xh-';..u’u:xh._.DL CBrA :.f.ri.b-c’:
NOTE Write answets lo the questions on cbjeclive answer sheel provided. Four possible answers AB,C & D lo each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given In front of each question wilth Marker
or pen ink on the answer sheel proviced. -

1.1, Which organism regenerales its los! parls through milosis? ?.;_.Hu.;g,;,@w’&_;:é_:—‘/::rlf_'_;hf.u’ ;'dh'.ﬁgl-;l( 1.1

@ Scastar (¢ (B) Horse 1) ! (C) Mosquilo /"f (D) Frog S
2. Which vitamin acls as co-enzyme? ‘e IR IM ROV .
N (A) Formic acid L2106 (B) Nucleic acid <1 € (C) Amino acid L2550 . Folic acid A210 ¢
3. The area of leaf surface which stomata cover is: - lﬂfb:::’ -G’-'-.Lift' S .3
@ 2% (B) 1--5% (C) 5--10% (D) 2--8%
4. A micronulrien! required in nilrogen melabolism is: -.:;_nr.rb‘}.:?_é:rf:llﬂ: S S 4;:’55:51)? '-»-.I:'i 4
(A) Zinc ) (B) Iron wii (C) Chlorine s @ Nickel )

5. A person having none of the antigen A and B has blood group. ...'a.t‘::f:fﬂ fu"&% Jkuf':UJ"HBJ:‘f’\U/"L'i:'u': S Ll 5

(A) "B" (B) "AB" ‘ i 5 (D) "A
6. The scientist who discovered the pumping aclion of heart was: _l;f._-..':g.uu‘( l_(;’ EU:.L. JJFL B
‘ _(A) Linnaeus ./—*J . William Harvey Ay (C) Roberl Brown gilze.ss (D) Schwan Uiy
7. A group of members of same species living at the same place at ,;.I;Lft.._ﬁud;'i:w__ﬁ:‘mf AL 2Ll 7
. the same time is called: '_c:_.'fll:':':r;%j v
i (A) Habitat o-*(f= (B) Biosphere #+1 (C) Community 4_';3;{ O Populzation ;_;,f;'-'-'l:r'k
8. Microscopic study of tissues is called: _ | ) - t'll:’:-llkfd:-uﬁ K .8
(A) Physiology LE.:'L}; (B) Morphology &s'it c Histology s+ (D) Ecology /8!
9. Which mitroorganism is the cause of malaria? o bl ﬁ."r -/‘CT:)?’LLJf 9
. Plasmodium ﬁ:}r'ﬂ,l_: (B) Entamoeba Lzl (C) Paramecium r‘?lﬁ- (D) E-coli
10. Relaled genera combine to make a: ik Sag, 10
. Family Jﬁ" (B) Phylum /i (C) Class U (D) Order 3T i
11. The sites for prolein synthesis are: _;;;._J,;d;gJu;f,{ug é,, 11
(A) Perux_ysnmes fr'u’r T.._:; (B) Lysosomes _:fffJU " (C) Vacules _.r.':;f.- . Ribosomes ;_,—-_._‘Jl,
12 %he major energy production centres are: | Ui _'.-ﬁﬂ_ w3 I ,E;Jt Iy 12
(A) Plaslids &4 .Mllﬂchnndna L4854t (C) Ribosomes L (D) Golgi bodies :;H_.d,b'

- 235.09-A- 3¢ Y X ¢
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Marks: 12 | Time: 15 Minutes 2215 =3 127
i UL d'-‘-p een o i L E D C B AR 2L Ju;d@dtdu‘ 5 J: el Uiy
_LI_:/.:.JL- Lﬁl/l:r_ APt u-—gJ:ﬂ.:LD L CBcAz& L

NOTE: Write answers to the questions on objeclive answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,.B,C or D given in front of each queslion with Marker

or pen ink on the answer sheel provided.

1.1. During which phase the metabolic aclivilies of cell are very high? ' dﬁ{&,s};}k&-ﬁ:ﬂl&.fﬁ;ﬁﬂ;f 1.

) (A) Prophase 7/ (B) Melaphase 2t @ nterphase (D) Anaphase Zl
2. The enzyme lipase acls only on; _.—.:.tfd“_i/)::dU(lj:l 2

(A) Starch &L (B) Proleins sy - (C) Vitamins s @ Lipids JY

3. The process of glycolysis occurs in: -d—t'ﬁJ =/ 3

(A) Nucleus (= 2% . Cytoplasm (Lrits- (C) Ribosomes (- ‘71, (D) Cell membrane e AF

4. Saliva conlains an enzyme called: -3 t'll:'/flﬁflll.-.i_igl_.&u:l,fuf' 4

@ ~Anyiase 2l (B) Lipase zdo (C) Protease 7ids (D) Trypsin /-
9. Which blcod group individuals are called universal donors? YU c-ll";' :J’J =5 :ljlﬁ....- f«“"lfr S
. I'I.OII {B} Ha" (C} HBi! {D} "ABH
) . “: L‘"l- e _l"" s
6. The slomala open when guard cells: - F AP L,,E'a‘--l;"l.)' e .0
) (A) Become Flaccid ug.LL_u::-.-.E:”' [ ¢/ (B) Gain chloride ions u‘c’_ b Tfl;f
. Become turgid (7 & lstis/ (D) Loose waler (& ;ng
7, The name of famous book written by Bu-Ali-Sina is: _:;_.rl:b"'.__,l:f}::";’lfbrd‘::
. Al-Qanoon-Fial-Tib _* Huu:‘hd (B) Al-Nabatal ;;L"lj-’l |
.';"
. (C) Al-Abil Jur (D) Al-Khail
8. Waler makes the composition of protoplasm of all living organisms: - L‘l;-.r_‘rl,l;.r":{i"uul;lgrﬁdg 8
(A) 50--60% @ co--70% (C) 60--80% (D) 60--90%
9. The mosquilo which transmils dengue fever is: | P o | 9 Ul:-_;_,;: /s-f g
(A) Culex (B) Male anopheles 551 -
(C) Female anopheles A1 G . Aedes .1l
10. Th ification is: - o, (28
0 e basic unit of classification is | -{-—U“L.«J_l::l.ruf" ¥ 10
(A) Genus (B) Order 37 @ Species Ju (D) Class Ji¥
11. The movement of molecules from an area of lower -r_ru-",f S7 M t—l'-*r—'ub-'ui-rc.-_.lkr’_h;mlru o 11

concentration to the area of higher concenlralion is called:

(A) Osmosis 724! (B) Active transport .._:.;:;‘;Jfr": l
' (C) Passive transporl bz @ Diiusion i
.12. The resolution of human eye is: | ..f'_J v S ET3U
@ oimm ~ (B) 0.2mm (C) 0.5mm (D) 0.8mm
- 233-09-A- 3 W Vi
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Marks: 12 . Time: 15 Minutes &415 ....J: ' ]Z/"
/'.JJ"'L;”{L}EL;”JT'u'f‘*:'-—".ﬂ:.r'-f.f’,? l{_}"a.{:‘"_ D, C,B, A...-U.r .-J-;L- '.r *'c,f."o.!d!’d’.r Lﬁf’ J(Lf: - I.‘: - U r‘*"U &7
=0 & :_f_!' l;l";...-"*;r...lu oS! ;lﬁ.D C.BA lfx'_‘-L-'Z.
NOTE: Write answers (o (he questions on objective answer sheet pruwded Four possible answers AB,.C & D lo each question
. are given. Which answer you conslder correct, fill the corresponding circle A,B,C or D given in fronl of each question with Marker
or pen ink on the answer sheel provided.

-

1.1, Oscar herlwig discovered meiosis in. -L#EJL Jiﬂ'di-J-'-ﬁff'"

(A) 2r1947 (B) £/ 1805 (C) 21809 @ .:.1876

2. The molecules at which enzymes acl are called: Y liv:'fu’::z.:fﬂ.l:'hfﬁﬁlfgfﬁrﬂlﬂ 2
(A) Products 3, @ Substrates 4+ (C) Codactors 526/ (D) Activessite wrisfi

3. ATP was discovered by: AV ATP 3
(A) Firtz Lipmann ;:.-L"::’J,} (B) Calvin ws¥ (C) Hans Krebs /7= @) Korl Lohmann 2 ¥

4. Whalis known as Roughage? ..|_,[_:¢_:.z£ {Rnughage}é A4
(A) Protein 0rry (B) Lipids £ @ Dictary fibre 7645 (D) Vilamins 7ty |

5. Which compounds are required in low amount in body? == Jﬁas:ﬁuﬁslﬁ'f;(("’&ﬂgcf .5
. Vitamins  ~{ls (B) Minerals 7/~ - (C) Protein c)‘f:{ (D) Lipids &/

6. Our hear lakes resl. ' - t'.-?'l;U:h'.': B

@ Ouring slteep Yol (B) During silling &_ &

(C) During running E_.s:.'# ‘ Never lake resl Jlff
* 7. Number of Bicelementls is: _.-:_:LLJJJ%IE R
(A) 92 (B) 99 & (D) 12
. 8. In Pakistan human population in 2010 was____million. S _w.zo1nu‘*-’;g!u;uuucf; 8
. 173.5 (B) 180.3 (C) 190.8 (D) 189.6
. 9. The tentative explanation of observation is called: P (TSN P Oy~ A 8 JRERN
(A) Resulls ij- (B) Theory (s ‘ Hypothesis -:::.f} (D) Law U
10. Five Kingdom classification syslem was inlroduced by: ' _y,f__j,,l,:-rf-’wﬁ:-ﬁ"‘ Ls"r ;,Cf&_.
(A) E-Chalfan /5! @ Robert-Whittaker fo 1,
-(C) Margulis L/JCL '_ (D) Schwarts 20"
11. The major cﬂmpnnenl of cell wall of a planl is: -l ,;zu:,.;t,’dz,d:J,.__ TR
(A) Chitin Lrb (B) Peplidoglycon u“CmLL* . Cellulose Jisv (D) Cholesterol Js,f-':’;"
-12. A millimeter contains of micrometer (4111). _ _uji.::}};'jfl.uc /‘-:.UL_,'I:'! .
(A) 104001 (B) 100#M @@ 1000/ (D) 10000 AM
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NOTE: Write answers lo the questions on objeclive answor shee! provided. Four possible answers A B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circla A,B,C or D given in front of each question vith Marker
or pen ink on the answer sheel provided.,

1.1, The sludy of siructures and funclions of cells and cell organelles is called: ...-':_r!l:':-lLL*L’JL-il;;fquJ#CTJﬁuIJ—’ a4

(A) Histology J.s's— (B) Physiclogy .4 . Cell BiologyJ./?LU< (D) Anatomy (7t
2. The organisms lhat take food and sheller from living host and .GJ.—; e 7 Unibedie pnsfib) 2
In return harm them, are called: -LEL[L:{L{:LE:{:UL‘?:’(EL;LJ: M

. Parasites u"'fb'ﬁ ~ 7 (B) Saprophyles u:"‘l.h,{ (C) Carnivores };-*J;t’ (D) Omnivores Sy

3. For how many years Biological method has played "lf':':':fr’ N VE L 49 o U” L .3
an importanl part in scienlific research? | =
(A) Ju 200 years (B) Juv 300 years (C) JL 400 years . JL 500 years
4. The lypes of organisms those inhabil the earth are______ million: -a,,“fr(l.-’"*-.;.-"-]' L Abumsegets 4
(A) seven =L (B) eight 7 (C) nine J @ v
" 5. Light microscope can magnify objects____limes. - UL Sl :@-Uj PEY NN
(A 1300 ~ (B) 1400 @ 100 (D) 1600
6. How many types of electron microscope are used by Biologists? ‘i .:_.;J’“"l._.-: -Vg'-LJ Y2y ﬁx){fd"}“ 6
_ (A) one L @ vo » (C) three £ (D) lnu_r e
7 The major phases of cell cycle are: | LSyl JnrE 7
. @wo » (B) lhree of (€) four s (D) five &L

. - : W il o .
8. The sel of Biochemical reactions that occur in living organisms in order 1o u_--,fu.: AL /-'rld.e “f CLelhs B

mainlain lile is called: Ui S Wi H.Lf'

'Metabﬂlism (Hle  (B) Ketabolism (/i (C) Anabolism ¢! (D) Chemical reactions ,'x".JJJ!:{

Q. ATP was discovered in: -l_._fL_J'.:..‘-L,-.-:"‘ATF' 9

{A} Jer 1927 (B) <,1928 . ;,CJBEE (D) 51930
.-;ﬂ, The nutrients required in small quantities by planis are called: _L;_:Ju;‘;_ J::;,;,ﬁbn;r_‘;:,ﬁ’:_.,ﬁ Jagp.oﬁfu”{ 10
(A) Macro nutrients L,r“‘ "J::::f:" ~ . Micro nulrients u"" ‘}.-.Eu_ﬁt
. (C) Mineral nutrients u"“"',-’,-fdj' {D} Simple nutrienls g_}"l'."}_rfub-
11. Which macro nutrient is component of proteins, vitamins and enzymes? % ..:ns’jjl;':lulfl.*nu;fh;J*;'}.-:':f?l.fwf 3k
(A) Sulphur /i’ (B) Potassium (-'%L: . Carbon vt (D) Phosphorus (fus s
. 12. Whal percentage of waler enlering plant is lost via (ranspiralion? Lui'}y‘ijﬁii (JE ;_u,;___.f,_ﬁr,.u[:f_ 3 A2
| fetbfe gl
(A) 60% (B) 70% (C) 80% . 90%

323.09-A- W
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NOTE: Write answers to the queslions on objeclive answer sheel provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheel provided.

13 Where are Ulcers occured? ?t,,_r_-'.?_.:fulf/J' o153
(A) Stomach s~ (B) Duodenum (':i:_’i 1
(C) Esophagus u’-or,ff . all of these (er WA/
2. Which chamber has the thickest ﬁalls in human heart? ?@Jﬁjfa.ggsfi:&ﬂé.ﬁf_d: 2
. (A) Right atrium (=100 {B}‘ Left atrium (JzIUtl . Left Ventricle J'E,::;ugg (D) Right Ventricle rﬁﬁu_l:h
3. The study of fossils is called: _etulktd 3
(A) Entomology (o531 (B) Pharmacology (i, (C) Parasitology S/#L1s @ Palaeontology JA iy
4. The famous book "Al Nabatat" was writlen by: _ -U‘ U’{'-*l' ‘:th:f':(!?’" 4
(A) Bu Ali Sina b::d‘:,' . _ Jabir Bin Hayan gbyisb
Y (C) Abdul Malik fUi (D) Ibn-e-Nafees = Tes
5. The tentative explanétinn of observations is called: -+Juf¢9uJJf J.;.,I,,:L&» s
(A) Observations =lst& (B) Theory (n? @ Hypothesis U7 (D) Law 0 _
6. The National bird of Pakistan is: _ - ISV #] 0=
. Chakor Patridge 6/-; (B) Sparrow L7 (C) Pigeon 7l (D) Parrot Ls»
7. The major component of cell wall in planis is: q..*t;.::Ef:r:b’JhJ:u: Jug T
(A) Chitin u,f{b"' (B) Peptidoglycan '_-/:gsﬂ';:a’l;::f (C) Cholesterol Ji~= @ Cellulose sk
" 8. Blood is the type of tfssue. -:"'..-{; SHus 8
(A) Epithelial tissue ﬁ-’}f—’ﬁlr o Connective lissue ;u;,@f
(C) Nervous tissue Hns (DY Muscle tissue 2
g. The accidental death of cells and living lissues is called: _.-;-_JM.:,,-JE_,bJ ;;J,;;;,i,): 9
(A) Apoptosis J %! @ rccrosis Ak (C) Mitosis U ¥ (D) Meiosis U
10. To which category of molecules do enzyme belong? u‘&’.;JL‘L r’ JJ}';-L /l:}f 10
J (A) Carbohydrates u":;,if'}:_'.ab" (B) Lipids J&
(C) Nucleic acid HI_J;:'-‘}:Z : . Proteins ;}-:’u{
11;Frur;1 which bond of ATP molecule energy is released? - ‘e Ol bl i SLIILATP 41
@® ;. P-PBond | (B) £l C-H Bond (C) XL C-N Bond (D) £t C-O Bond
12. The wave like movement of muscles thal pushes -.._.dllfc_.ul J(”}-’”’di”( ﬁﬂ.;,C?J}V 12
- food through digasﬁve sysiem is called:
_ (A) Churning ..ﬁ.; (B) Emulsification J:'-GU‘V"I
(C) Absorption cf?ﬂ:-:f . Perislalsisu"’ LSz
243-09-A-3W W
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...JJ/;:_L}"L-JL#LII.!.:..fh,.ph-"‘.:..-u'u:fln‘.'_D |l CBA 2Ll

NOTE: Writé answers to the queslions on objeclive answer sheet provided. Four possible answers A,B,C & D lo each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. - Which mineral is necessary for transport and slorage f&'u:"-u'-‘—«ﬂ-'.-'; '/UF/ U—'()':-L?#UJ;( 1.1
_» of oxygen in body? ?Ld;,ﬁi.ﬁ
(A) Copper ¥ ®ion Ui (C) Zinc £ (D) lodine fi¥T
2. An average adull person has blood quantity: -%-J'AE’JL:'J’U:J’ 8':5"1"-9 2
- (A) / 2litres (B) / 3 litres ® /siites (D) / 8 litres
3. Microscopic study of tissues is called: -%rﬂrglé’é-fiﬁf;' LG 3
(A) Anatomy (st @ Histology 3¢ (C) Taxanomy $5LE (D) Morphology (JsL
4. Which Muslim scientist is called the father of medicine? Te-tll] GLF'—-"H‘ A V(L/ Vo4
(A) Jabir Bin Hayan wlbwisb (B) Abdul Malik Asmai (1 fUix*
@ Bu Al Sina b (D) Ibn-al-Nafees uﬁwfum .
’ D Which disease causes more deaths in the world? ‘U drty ’HLJ-:'-JJ‘.‘:L/ UL 5
_ (A) Hear attack G < (B) Cancer / (C) AIDS @ ooz LA
6. Who proposed three Kingdom system? ?L_f:.pf’-(t'f'ﬁufé_.'_}f 6
(A) Margulis uJ:cL (B) Schwartz ¥ m Ernst Hackeldf:-.*.f:’;r (D) John R;ay e
7. Who discovered nucleus? ?g;ﬁngi.;/ \f-{c 7
- (A) Robert Hook -, @ RobertBrown wilzts, (C) Lamark S (D) Pasture £\
8. Which organelle is helpful in making spindle fiber? See sBralfdbef? hdi{o"‘:'lb"f 8
(A) Lysosome (r:-‘?l . Centrosome (1% (C) Golgibodies :-:.#I,LS.J:” (D) Mitochondria L;if;JL
9. The organism that do asexual reproduction through budding is: ,.-:_;l,clz,ul,,g_/g}g:’-/‘.f_,_-‘,,;g:v{é 9
(A) Star fish J:':L'- (B) Euglena L:‘ﬂ' | . Hydra LfElf (D) Paramacium (-'t':'l,v:-r
10. The Optimum temperalure for human enzyme working is: -:':'_..:.-..:L?.T-wféfé_:r 2 );‘VZ-FI:FIJL'J' 10
(A) 30°C (B) 32°C (C) 35°¢C - @ 37°c
, 11. _Meliin Calvin was awarded nobel prize due to his work on: Wbt e ,;,,,Jrs‘{d{/;fu;,_v'u,l_» 14
\ (A) Transpiration cff}l;ilj | . Photosynthesis yd&?;‘
(C) Respiralion Jf}g:.{; (D) Evaporation (yu‘:-..r;;lfl
—12. The basic and common source of energy for animals is: -".'—-:'-'3(""-*-"6-’&;-ﬁ-/u}‘bdﬂu:um"l: 12
. Carbnhﬁfdralas u'?;.;ﬂ}:jgb’ (B) Proleins uf-"J{
© (C) Lipids & (D) Minerals
241-09-A- W W
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NOTE: Write answers to the questions on objectlve answer sheel provided, Four possible answers AB,C & D 1o each question

are given.Which.answer you consider correct, fill the corresponding circle A,B.C or D given in front of each queslion with Marker
or pen ink on the answer sheet provided,

1.1. An example of macromolecule is: _ -?.JL%‘JJIQLJ/Q’ 1.4
| ‘ *1 (A) Water JI_; I (B) Glucose ¥ @ Protein l:)'fj.-__{ (D) Sodium chloride ¥l
2. The study of an organism's tissues with the help of microscope is called: - ':Ll:-f;'l&’:-ud:;ﬁif VP Uss L .2
(A) Morphology (.JiA  (B) Physiology (/L7 (C) CellBiology Js/LJ~ . Histology /¢
3. Logical consequences of Hypothesis are called: - "T—H'-fécl:#‘r—"tf%‘j’: 3
(A) Hypothesis J’-'i’d} . Deduction ._-)f‘f_i_.i (C) Induction S (D) Experiments = fi
4. Agenusis a group of related. IR O §fees/ VP 4
(A) Orders ¥i/5,7 . Species K% *(C) Classes h"}ftb' (D) Families rx"'"J :
D, Baaiqally cell membrane is composed of: --ﬁ:—aﬁdc{ﬁ{}:{ﬂ*‘dﬂiﬁ O
-(A) Lipids and carbohydrates <. 1;3}::;5‘},3!}%‘ (B) Carbohydrates and proteins :-w'-';:-;ﬂ'u’é#f["-’-‘g
Y (C) Proteins and vilamins < tslefs, @ Lipids and proteins e eFsg nlid)
6. The function of mitochondria is: ' e KL B
! | .tu preduce energy tﬂ.g_;&il (B) Respiration JJ-}L;_J; |
- (C) Lipids preparation d;gJ}y {ﬁ} Photosynthesis )ru;b};’
7. During which stage of mitosis, spindle is formed? e Llimtd /:_.L-)JZU/;*JL Ky
. Gz (& (B) Intérphase /'.3;{ (C) Prophase /'::‘s.; (D) Melaphase ,J[,_-
8. In which medium enzyme trypsin works? e t‘/r"b’d‘fj_#u/c}ﬁrfflﬁl .8
(A) Alkaline (/151 @ Acidic Ji7 (C) Neutral J_’_ Y (D) Slight basic (FL1&

8. In Ribose sugar number of carbon atoms is:

- (it S 9

(A) 3 B) 4 ¢ s (D) 6 ) |

10. ‘b'\_.*hich*is not a good source of Vitamin 'C’ from the followings? ?.;,:_,L,r:{",:u jl;_fi!’;_j‘uf'f,u;f:-_u:d-j@ » .10
" (A) Citrus fruit Lﬁ-{Jx (B} Vegelables ug,::; (C) Liver of cow /GB’E_E’ . Meal 2

—

11. Average life duration of a platelet is days. by =L bshalfa ol 0 11
. i —_— - - - —arnl .

¢
- @ 7-8 - (B) 6--7 (C) 7-9 (D) 8--9

12._What percentage of plasma weight consists of protein?

‘et ks gunan 3K 12
(A) 1-2 (B) 2--5 - ® 79 (D) 5-8
245.09-A- W
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NOTE: Write answers 1o the questions on objeclive answer sheel provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correcl, fill the corresponding circle A,B,C or D given in fronl of each question with Marker
or pen Ink on the answer sheet provided,

1.1. Which chamber of heart has the thickest walls? ?uf_?{jr‘c--f-'u_’ Ny JJ;:__.G;...L:JJ(&LJJ 1.1
A (A) Left atrium AV (B) Right atrium ¢Aluls  (C) Right ventricle J2,%suli @ Lot ventricle KA

2. To slop backward flow of blood which of these haue valves? ‘U ,?_,ru:c}‘;’l;ﬁ.ﬁi 1115 l:’-tﬁlw(uf-"" .
(A) Arteries y T ® Veins (C) Capillaries z/4 (D) Nerves Js/

3. The Number of elements found in nature are: - ;J;.;}J pr%i-"i—'ff—-’;u’:#/"' 3
(A) 96 (B) 94 (C) 90 @ <2 '

4. En_tup't'uiugy is the study of: —e b L8 IrF 4

(A) Tissues 5 (B) Organelles 5’;}!;7 @ Insects K=l (D) Bacteria ¥l 2%

5. Logical resull of Hypolthesis is: -‘-’—-"-:'&?J-'%ﬂ =

- /, '
— (A) Experiment .. £ (B) Observation sste @ Deduction u)'{_ij (D) Law @6
&. In which season Houbra bustard migrates to Pakislan and stays? e bl ETe LS A w3 pakn 6

(A) Spring . (B) Autumn U7 @ Winter L, (D) Summer L/

7. The size of red blood celis is: . - -q_f!m:.-*L-zJ)le_; v |
{A}_?—F!H (B) 4um . 8 unt (D) 12um |

8. Which of these do not have cell wall? L?JL?J':L;E‘D:J-’LL;{J},LJ:’ 8
(A) Fungl Q¢ (B) Algae (! (C) Prokeryots U5, @ Protozoa BEY,

9. In which stage of cell cycle, spindle fibers are made? St i 6l A SL S o
@ G:Phase /'.:"zd’- (B) Interphase /‘:";-'f | (C) ‘Prnphase /';":..; (D) Metaphase 2

10. Protein is digested by: | <tk 0
(A) Lipase %1 (B) Amylase /'JL,EU . Protiase ,-:-:’:,; (D) Nuclease /“/ﬁ

11. Light of which colour is moreeffective in photosynthesis? | ?.:—_,i_-*. LS },U‘F"‘ }g’%,J L A1
@ Bue & Red L) (B) Green&Red (st (C) Blue&Green i (D) Yellow & Blue &k

1_2. Gasltron Hormone is produced in: | _,_l-_'f,;_u;,»_,w,),:’ 12

¢ (A) Duodenum A3y (B) Pancreas A MIAK  (C) Liver i @ Ssomach s

LU72.09-A- W W
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NOTE: Wrile answers to the queslions on objeclive answer sheel provided. Four possible answers A.B.C & D to each queslion
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each queslion wilh Marker

or pen ink on the answer sheet provided.

i H "LJJ‘J.L*"&'[J -lr:_.l . &
(D) 211939 AD

_.I:_;_}lf.-:ﬂj/c'&--da’u)’hg/ 2
®cC

1.1. ATP molecule was discovered in:

(A) L1829 A.D

(B) 211839 A.D & 1929AD
2, Deficiency of which vilamin caused scurvey?

(A) B (B) D

(C) A
<. l'farAJTEJE 3

3. Bile digests the;

(A) Sugar @ Lipids 2 (C) Proleins %y (D) Salts b
_4. ABO blood group sysiem was discovered in: J:r;.il;:J("" ...-:,".fJ:ABO 4
(A) U£1902 A.D (B) Ut 1901 A.D (C) %1820 A.D @ ;190040
5. The lolal number of hioelements is: g J’.)f r.fj 7L .5
(A) 12 (B) 14 @ 6 (D) 18

-
6. A place where an organism lives, is called: --1Ldll:w.:—l-w’-'- t_:ub_e-f::n 6

‘Habilat uﬁ’ (B) Habit s (C) Population J—J;_I. (D) Species Pl
y 7. Malaria is spread in sparrow by: S BE ASLZ T
@ cux Or (B) Anophlese i | (C) Adies zil (D) Fly F . | |
8. The five kingdom classificalion system was introduced in: _y’y/_.i;wcf—‘%"&;uég .
@ . 1967 AD (B) - 1972 AD (C) 2 +1980 A.D (D) J* /1988 A.D
9. The cell was discovered in 1665 A.D by: _I_..J'.:.':L;;L;: 1665 % .9
(A) Jhonson LLf- e (B) Brown <& yils ﬂ Hooke .5._....,( (D) Aristotle L=l
"10. The resolulion of human eye is: s J};’;;_.-_u&-f’TJLJI .10
_(®) 0.1mm (B) 0.01mm (C) 10mm (D) 100mm
11. In which phase of cell cycle, chromosomes are duplicated? ‘Ui ngul_ﬁ, E’L,f};-f_-,fui’,_bﬂ/z fl,.d'-‘ 419
(A) /2 Go Phase (B) 2 Gy Phasc (C) 7 Gy Phase @ ; sihase
12. Enzyme work in human body &t oplimum lemperalure: -i:_;f-/;)(éfi.i: .E../?EZ.EI:}I,;:('? duUl .12
(A) 47°C ® :/C () 27°C (D) 17°C
349-09-A- W W W
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NOTE: Write answers 10 the questions on objective answer sheel provided. Four possible answers A,B,C & D to each question

are glven.Which answer you consider correcl, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheel provided.

—e S L 1

1.1. A waler soluble vilamin is:

(A) D @ C | (C) E (D) A
2. World hearl day is celebrated on: e bbb s itis 2
(A) " 28 May @ - 28 september (C) &/ 23 March (D) 3 30 December
3. From two words of which language (he word biology is derived? ' ?ﬁuk'ﬂl!i&'-:- UELL S GIEL 3
. Greek Jt.g (B) Lalin (3151! (C) H{ndi x4 (D) British Jj..-:
4. Which level of organization is not visible in plants? AW VKF LUy 4
(A) Organism rﬂf . organ system level s/ ot |
(C) Organ 7 (D) Tissue &
5. The logical consequences of hypothesis is called: -é—f{?’ff 5'—*1-5-}/5“5!-59 D
(A) Hypothesis u"';.fd} (B) Observalions & =Ll (C) Law /¥ @ Deduction a3
6. Carlus Laencous divided nalure in _____ kingdom. _y?::{,ﬁr)ﬁ__ fcfﬁi-gf?d'bf .6
- (A) Two » @ Thice & (C) Four b (D) Five Z.L
7. Nucleus in plant cell was discovered in: : IJ'-.:JLJJL/‘?/ L,.J*L.-—_..;,f 7 |
@ 1831 AD (B) U4 1834 A.D (C) %,1883 A.D (D) %1664 A.D
8. The size of red blood cell is: ..:.t'rzt-h,}"#.x-; 8
(A) Gum 8) 7.8um ©) 7um ® sum
9. Asexual reproduction in hydra is done by: ...._aj.:.?f..;-__&:: S js,:_-_-;J;fg'.«:_.th#} 9
(A) Milosis U 70\ @ Bsudding
(C) Culling £ (D) Spore s
10. In metabolism works as catalysi. #U::Lf?b;,;;:l"i /;GJE{ A .10
.Enzyme fl;r':f (B) Vitamins >l -
(C) Protein £y (D) Lipids 4/ il
11. Sun light is absorbed by: _f;._t-f____”;rf[_fmfbw 11
(A) Flower J¥ | (B) Stem € °
@ Chiorophyll S (D) Leaves =
- 12. Daily need for trace minerals is: _‘:;_J,;;, I EYTIRY:
. less than 100mg (r;..'mﬂmg (B) more than 100mg #2kie-100mg
(C) 100mg 100mg (D) 200mg 200mg
235-09-A-W W
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NOTE: Write answers 1o the questions on objeclive answer sheet provided. Four possible answers A,B,C & D lo each question
are 9'”5”-“”"1'5" answer you consider correcl, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen |_nk on the answer sheel provided,

. 1.1. Which Vitamin is made by bacteria in colon?
(A) Vitamin C 7t I(B} Vitamin D /¢
. 2. Proteins make percentage by weighl of plasma:
(A) 7--12% (B) 7--18%
3. The sludy of internal structures of the body is called:
(A) Entamology Gsv5! @ Anatomy (b
4. Jabar bin Hayan was born in:
(A) Poland 2y (B) lraq UV
S. The malaria is spread in birds by:

(A) Anopheles %  (B) Dengue (*}

6. Carolus Linnaeus divided nature into Kingdom.

. Three £ (B) Four /b

7. Aerobic respiration occurs in:
(A) Cylo plasm (/i #L (B) Plaslids J i
8. Robert Hooke was a scienlist:
(A) Greek ity
(C) Polish (/=
9. Cuﬁp[ete set of spindle fibre is known as:
(A) Chromatin /ts./
@ Vitotic spindle J.z L
10. The optimum lemperature for the maximum working

speed of human enzyme is:
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7--9% (D) 7--21%
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(A) 40°C (B) 46°C ® 37cC (D) 98°C |
11. The roots and root hairs absorb water from soll by: L,E:?_I’::e;f.b:’:éi-!uﬂb::?h(&&_ 2y A
.Dsmnsis Ul (B) Diffu;inn 34 (C) Phloem é;‘-" (D) Air Iy
12. The deficiency of iodine causes: -a-o’ --*‘JJJ::_I
.Guiler f’if (B) Anaemia L<l (C) Obesity Ltr " (D) None nf these L.fOIUJ(
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